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9 100kN/mM%#BZ 5% -l -~ = -|3mEBZS -~ = = —| 100kN/m%#8% % = -~ = -|3mZFBZ B -~ = = =
s 1.00] 0.00 ~ 6.51 82.04| #hLlst+ |0.00 ~ 6.51| 1.87 10.01 s 1.00f 500 ~ 8.00 82.04| =nLis | 500 ~ 8.00f 1.87 10.01
3 100kN/mM##BZ 5 -l -~ = -|3mEBZ5 -~ = = —| 100kN/m%#8% % = -~ = -|3mZEBZ 5 -~ = = =
s 1.00{0.00 ~ 7.75 99.55| Zh L4t |0.00 ~ 7.75| 245 13.14 s 1.00f 500 ~ 11.71 99.55[ #h 4t | 5.00 ~ 11.71| 2.45 13.14
4 100kN/mM%#BZ 5 -l -~ = -|3mEBZ5 -~ = = —| 100kN/m%#8% % = -~ = -|3mEFBZ B -~ = = =
s 1.00{0.00 ~ 6.44 81.02| ZhLlst |0.00 ~ 6.44| 1.72 9.22 s 1.00f 500 ~ 7.61 81.02| =nkist | 500 ~ 7.61| 1.72 9.22
5 100kN/mM%#BZ % -l -~ = -|3mEBZ5 -~ = = —| 100kN/m%#8% % = -~ = -|3mZFBZ 5 -~ = = =
s 1.00{ 0.00 ~ 6.47 81.47| =hLlst | 000 ~ 6.47| 1.80 9.65 s 1.00f 500 ~ 7.71 81.47| x4t | 500 ~ 7.71| 1.80 9.65
6 100kN/mM%#BZ % -l -~ = -|3mEBZ5 -~ = = —| 100kN/m%#8% % = -~ = -|3mZFBZ B -~ = = =
s 1.00]0.00 ~ 6.41 80.62| =h L4 |0.00 ~ 6.41| 1.71 9.13 s 1.00f 500 ~ 7.58 80.62| =#Lst | 500 ~ 7.58| 1.71 9.13
7 100kN/mM%#BZ % -l -~ = -|3mEBZS -~ = = —| 100kN/m%#8% % = -~ = -|3mZFBZ 5 -~ = = =
s 1.00{ 0.00 ~ 6.49 81.80| #hLlst |0.00 ~ 6.49| 1.73 9.26 s 1.00f 500 ~ 7.71 81.80| =nkst | 500 ~ 7.71| 1.73 9.26
8 100kN/mM%#BZ 5 -l -~ = -|3mEBZS -~ = = —| 100kN/m%#8% % = -~ = -|3mZFBZ 5 -~ = = =
s 1.00{0.00 ~ 6.63 83.71| =hLlst |0.00 ~ 6.63| 1.70 9.08 st 1.00f 500 ~ 8.04 83.71| =nkist | 500 ~ 8.04] 1.70 9.08
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zh st ~ ZFhLst ~ st ~ ZhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zh st ~ st ~ FhLst ~ ZhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3ImERBAD ~
zh st ~ st ~ FhLst ~ st ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zh st ~ FhLst ~ st ~ ZhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3ImERBAD ~
zh st ~ FhLst ~ FhLst ~ ZhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zh st ~ FhLst ~ st ~ ZhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3ImERBAD ~
zh st ~ ZFhLst ~ st ~ ZhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zh st ~ ZFhLst ~ st ~ ZhLst ~ |
=EFR



